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F#ER 5% 2% 18 268

jigt | gt WBE | & W | HR 1 2 3 4 APHIE | & | IEf | REIEG
1 5 | AR—S40 | FIL #E IR 103.2 | 103.9 | 102.8 | 103 412.9 1
1 4 | AR—S40 | REE BE E=NE 1035 | 102.1 | 102.3 | 103.6 411.5 2
1 6 | AR—S40 | MEDDIF |EFEEHE| 101.2 | 102.3 | 102.5 | 100.6 406.6 3
1 3 | AR—S40 7% HRE EN& 100.9 | 100.2 | 102.2 | 102.2 405.5
2 2 | AR—S40 | K% #& | @ORF | 988 | 99.8 | 1024 | 979 398.9
2 6 | AR—S40 | HEH IFE ekl 954 | 99.7 | 988 97 390.9
2 5 | AR—S40 | BAJIl E#& fints 93.8 96 98.7 | 92.8 381.3
2 4 | AR—S40 |BH BHAXR FE 954 | 93.7 94.2 97.2 380.5
2 3 | AR—S40 | iEH 7 iz 943 | 98.2 | 93.1 92 371.6
2 1 AR—S40 | Fith BE MR 922 | 83.9 92.5 94 362.6
1 1 AP—40 | &R EFE INFR 117 86 83 86 12.4 344.4
1 2 | AR—S40 all £ MR 81.7 | 76.2 858 | 81.5 325.2
3 1 AP—40 | EiE BH# | EEfES 89 91 92 88 24.2 384.2 OP




SHTEE ZXFLAFFTRE
F#EB % 2% 18 26H

B % Rl T & 1 2 3 4 Bit |HESEH B | REIRA
BR—S40 | 7 | iMlim B4 hFE 88 919 | 953 | 964 |371.6 | 371.6 1

BP—40 | 10 | X¥ =7 ENiE 88 83 87 90 [348.0 | 362.0 2 1
BP—40 | 10 | E 81T ENiE 87 81 85 88 [341.0 | 355.0 3 2
BR—S40 | 9 | IUE KX BR# = 634 | 746 | 53.8 | 70.7 |262.5 | 262.5 4 3
BR—S40 | 9 | &% i\ hFE 102.8 | 100.6 | 101.6 | 103 |408.0 | 408.0 OoP
BR—S40 | 10 | K& ##& | #OREH [ 1016 | 101 | 102.1 | 102.9 | 407.6 | 407.6 OoP
BR—S40 | 8 | MEDOD(F |EFESH 101 | 100.1 | 101.6 | 97.9 |400.6 | 400.6 OoP




&l % Al = 1 it [WESE| B | REIEN
BR-T10 IR =F FE 101 101.0 1 1
BR-T10 BF FE FE 97.4 97.4 2 2
BR-T10 IBE EH HR 94.3 94.3 3 3
BR-T10 =E BH# | E8@ES | 929 92.9 4
BR-T10 =8 A F & 92.5 92.5 o
BR-T10 £2H E¥F HR 90.7 90.7 6
BR-T10 o R 89.6 89.6 7
BR-T10 RE BB IR 87.5 87.5 8
FL & %R 103.1 103.1 OP
KE &% 213 98.5 98.5 OP
REE WE EWE 97.7 97.7 OP
KE =7 213 88.7 88.7 OP




